Ri\A - Projects\Project Folders\proj 1401-1500\PF 1482\D. RWBC Drawings\FL-13137\FL-13137.dwg, FL-13137 .3

\VALLEY]

B fonr

oor:

123 NE Beacon Dr.
Grants Pass, OR 97526

GLAZED OR OPAQUE
WOOD DOORS W/ SIDELITES

INSWING / OUTSWING

"NON-IMPACT"

GENERAL NOTES

This product has been evaluated and is in compliance with the 2010 Florida Building Code
{FBC} structural requirements excluding the "High Velocity Huricane Zone" (HVHZ).

Product anchors shall be as listed and spaced as shown on details. Anchor embedment to
base material shall be beyond wall dressing or stucco.

When used in areas requiring wind borne debris protection this product is required to be
protected with an impact resistant covering that complies with Section 1609.1.2 of the FBC.

For 2x stud framing construction, anchoring of these units shall be the same os that shown

for 2x buck masonry construction.

Site conditions that deviate from the details of this drawing require further engineering
analysis by a licensed engineer or registered architect,

740" MAX

- OVERALL FRAME WIDTH

113.0" MAX,

19.50" FRAME WIDTH

OVERALL FRAME WIDTH

= 74.0" MAX. FRAME WIDTH ——

— 98.25" MAX, QVERALL FRAME HEIGHT

///

Vi

,{//

98.25" MAX. OVERALL FRAME HEIGHT

7
V4
!

/ ,/
Vi Vi
/ /

V4

/
4//
/

A

/,//

BDocuments Prepared By:

B813.658.9187
o. 9813
o2y

Florida Board of Professional Engineers

P.O. Box 230 Valrico FL. 33595
Phona No.:

BUILDING CONSULTANTS, INC.

Certificate Of Authorization :b:

TABLE OF CONTENTS

SHEET#

DESCRIPTION

Test elevations, design pressures and general notes

Door panel details {opaque)

Sidelile panel detalls (3/4 lite

Door and sidelite panel deta

Is {full lite)

Horizontal cross seclions

Horizontal cross sections

Vertical cross sections

Buck and frame anchoring -

XX}

Buck and frame anchoring -

OXXO]

ole|o~|ounin|wirn|—

Lock details

11

Compaonents

OPAQUE

113.0" x 98.25"

10.00" x 82.25'

12

Bill of materials, components

and glazing detail

FULL LITE

113.0" x 98.25"

27.00" x 82.25"

10.00" x 82.25"

G1

+30.0

-35.0

+30.0

-35.0

vy
Zi
oS
o | &2
S S
(] mu
£z
e Qo
| = EG
SEE
= = §¥
L B Dt
3 1 Y
. L3
s Q i Ot
x 2]
5 orem
3 |~
& < o,
a. [+
>
b [43]
of 1
& 15
2 v
& g:
e
=
£
3
N
éc:
-lo
=
patE: 10,/06/09
scAlE:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
FIL—13137.3

SHEET _1 oF 12

Schmidt, P.E. No. 43409

Lyndon F.

© 2009 R.W. BUILDING DONSULTANTS ING,



ON] SINYLINSNGODL aNIoing "M’y 002 @

BOPCEF "ON “I'd “IPHIYDS "4 uopuiky

SNOISIATY _
~2:f2en) Gnovdo) - 18 30 _on| g " o
- w) v -
~186 ‘ON uomomLowny” 40 810ouIeD SWLIT 1INV, ] 084 010z 0Ol 3ivadn|zi/sz/o1] L N vi|X Ll ...m
suesuibuz jpuoissejold o piDOg DPLO|Y SATENESSY MO 1yvd % _.Nl . _.(Iu o
LBLE'BSA'ELE ON ouog W s g 2_
SBECT M4 OOMDA OCZ Xod “O'd \“\w@. — AR
"ONI 'SINVLINSNOD ONIdUNg d000 ATTIVA 3nJ04 i m |y w gl i
:Ag pe.pdesy sjuewnaog *1oNAaodd S|B8|E|&615 i

71"\ VERTICAL CROSS SECTION

N

/"3 "\ VERTICAL CROSS SECTION

/ 4\ VERTICAL CROSS SECTION

72"\ HORIZONTAL CROSS SECTION

- /28

i

d
~
qd
%
<
&,
DOOR PANEL
Opague 36

35.87" MAX
PANEL WIDTH

(50

I I

11.28"

S

- 00'6E

—~ IHOIFH TANVd XYW .94

£ ‘BMpLETET- VL ETET- 1\ SBUIMRIG DaMY "a\Z8YT Jd\D0ST-10%1 foad\siapiod yafoud\sioalosd - Wi



"ON] SINYLIASNOD 9gNIiging "M's &600Z2 @

60vCF "ON "F'd PIULYIS ‘4 UOPUK] @A v/<) SNOISIAIYE

Tz - . AH 31lvQ [ONlo| Mooy
Sz Rﬂﬁﬂmoﬂé 1O SIOBLRISD STVL30 ENvd JLME0IS S41 084 010z oL 3lvadn|zi/sz/ol 1 | uilX m > H_
BlooUIBUR [DUDISSI0IY JO PIDOE BPLIO|S ATHNISSY O 1MVd % ..N.. o~ |
LELB'6SOTLE "ON suoug W . g2 3_

SBGEE 1d ODUIPA OFZ X08 ‘O'd \N\w@ ~| . t&|&lg !
"ONI *SINVLINSNOD ONIGTING 4000 AITIVA 3NO0Y A m sle|ET | B
:Ag pesodeld sjuswnso(] 10N00xd 3 z 5 m %

AN

/"3 \ VERTICAL CROSS SECTION

3/

7~ 4"\ VERTICAL CROSS SECTION

3/

/i
/4

/~2 "\ HORIZONTAL CROSS SECTION

/"1 "\ HORIZONTAL CROSS SECTION

L8 -

> QO B e A @H
® ®

IHORBEK 'OCT'a
WL81G
-~ LHOIFH TANVd .96 -

/
4
/

SIDELITE PANEL

Half lite

40

[

18
PANEL WIDTH
10
D.L.O WIDTH

£'€ ‘BMp ZETET- TV ETET-1\SBumeld Damy "a\28bT 2d\00ST-T0wT fosd\siapiog 1afoidisioafond - vy



'ON| BLNVLINSNOD ONIGTINE "M 6002 §

80FCH 'ON "I'd WPIUYDS 4 ucpuk] SNOISIAZY

522 A, I S o e AVG ToNl o) | 1, ™ [
C1BE “ON UORDZUOHRY JO 10oLRIES S41 084 010z o1 dlvadnlzi/ez/ol 1 [Nkt 1T
wseeuwbuy (puocisse;dly jo pipog opuoiq -ATENESSY 0 Lavd nnw M R B
LBLE'6G9'TIE 'ON euoyd W o g0 4_

S6GEL T4 OOMIPA OFZ XoB O'd \S\&. . |&8|&|2
*ONI ‘SINVLIINSNCGD SNIaTing 00O AITIVA 32Na0H i w slw|ET | B
Ag padndeld SpBLINSOQY -10NA0Nd -] 2|35 W %

/"3 \ VERTICAL CROSS SECTION

/"1 "\ HORIZONTAL CROSS SECTION
7”2\ HORIZONTAL CROSS SECTION

e -
hd Vllflp v O 7/Wf/4.l. ”

SIDELITE PANEL

Full ite

~| On

- IHOBH 'O 70 XYW 5228 =]

D.L.O WIDTH
@

'I L]
PANEL WIDTH

- LIHOBEH 1INV XYW .94 -

@ _ 568

!

,/
v

36.0" MAX
PANEL WIDTH
27.0" MAX.

D.L.O WIDTH
q
D

DOOR
Full lite

BaseS—
Loy —
~

®

- IHOEH ANV XYW .96 -

IHOPH "O'TA XYW 52778

€% ‘BmpLETET-HVETET-1d\sBUIMRIQ Jamy "G\Z8bT 4d\00ST-T0bT [0id\siapod 1afoighsioalond - vy



R:\A - Projects\Project Felders\proj 1401-1500\PF 1482\D. RWBC Drawings\FL-13137\FL-13137.dwg, 5.3

1-1/4" MIN,

EMB. (TYP) ™ [ -

) -

1-1/4" MIN,

b

EMB. TYP.)

|

s

Ag

(S0X4D

EXTERIOR

\%'
R
\

INTERIOR

/" 1"\ HORIZONTAL CROSS SECTION

D

=

n

-

P

W Shown w/ 1X sub-buck

.

(7) (0@

EXTERIOR

INTERIOR

/" 2"\ HORIZONTAL CROSS SECTION

VA

) x

Vi

///

(O-2 5 fp

Engineers
9813

orization g

L7

P.O. Box 230 Vairico FL. 33595
Lyndon F, Schmidt, P.E. No. 43409

BUILDING CONSULTANTS, INC.
Phone No.: 813.658.8187

Documents Prepared By

Florida Board of Professional

Certificate OF Au

ROGUE VALLEY DOOR
HORIZONTAL
CROSS SECTIONS

PART OR_ASSEMBLY:

PRODUCT:

LFS
BY

Inswing shown - outswing
also approved

10/25/12 (UPDATE TO 2010 FBC

NOJ DATE

1

oate: 10,/06/09

SCALE:  N.T.S.

DWG. BY: JK

7”3 "\ HORIZONTAL CROSS SECTION

CHK. BY: LFS

Inswing shown - outswing
also approved

DRAWING NO.:
FL—-13137.3

SHEET _§ oF 12

REVISIONS

© 2009 R.W. BUlLDING DONSULTANTS IND.



’I'
V4 /
/

&

N\
q

b

/ / / /
q b
< 2N 5\ (4
\2/\7/
1-1/4" MIN.
EMB. (TYP.) =

/"1 "\ HORIZONTAL CROSS SECTION

W Inswing shown - outswing
also approved

EXTERIOR

INTERIOR

SEE NOTE 1 o

1-1/4" MIN.

EMB. (TYP,) c
F
4

™
S 8 )SEENOTE |
e EXTERIOR
AL INTERIOR
. 'o_‘ _ 22 SEE 21
o NOTE 2 40139
PG

/~ & \ HORITONTAL CROSS SECTION
v Shown wi 1X sub-buck

(D
T ©ea

N

\\\\\’&'\nnﬁé/////

&

II

W,.’-z.

4

/"2 "\ HORIZONTAL CROSS SECTION

w Inswing shown - outswing
also approved

EXTERIOR

INTERIOR

NOTE:

. Alttach sidelite panel to the frame
with screws (#10 X 2-1/2" pfh) 2" from
eachend and 6" o.c.

. Staples located 1" from each end
and 8" o.c. thereafter

/"3 HORIZONTAL CROSS SECTION

&/

Inswing shown - outswing
also approved

1;0-&5"3/2__.

T 28
Lyndon F. Schrmidt, P.E. No. 43409

P.Q. Box 230 Vairico FL. 33585
813.659.9197

BUILDING CONSULTANTS, INC.

Phone No.:
Florida Board of Professional Engineers

Certificate Of Authorization

Ry

Documents Prepored By:

ROGUE VALLEY DOOR

PART OR ASSEMBLY:

PRODUCT:

HORIZONTAL
CROSS SECTIONS

LFS
BY

10/25/12 UPDATE TO 2010 FBC

NOJ DATE

1

REVISIONS

paTE: 10/06/09

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
FL-13137.3

sieer 6 oF 12

R:\A - Projects\Project Folders\proj 1401-1500\PF 1482\D. RWBC Drawings\FL-13137\FL-13137.dwg, 6.3

© 2009 R.W. BUILDING CONSULTANTS INC.



SON| SANYLINSNOL SMNIOTINYG "My mDUN@

SNOLLO3IS SSOHO SNOISIA3S F

WALMIA Ag 3ivd fONI| | |1 ™ 2_
Sd1 084 010z oL vadnlzr/ez/ol 1IN Xt N |7
si98UIHUT |PUDISSRJOIL” JO piDOg DPLOL] CATENASSY ¥0 Ldvd % m S m ©
LBLE'6SY'CIY TON suUOyg W LoE L

SBSCE ™14 OUIDA OFZ Xo8 'O'd S@. ~|.|BlE(g |
"ONI SEINVLITNSNOD ONIING 4000 AFTIVA 3N90 g M Sl w gl
uhm pespdedd SUSLNDOQ 10N0oud 3k z 5|8 &

EXTERIOR

/ EXTERIOR

VERTICAL CROSS SECTION

/4 \ VERTICAL CROSS SECTION

o

ve o m
A\/\ @) o
d ROR: =
o “I m s -
@ % ¢
(dAl aw3 _| - g
"NIW ./ 11
('dAL) 'gw3 -
NIW b/ 1-L
("dAL) 'gw3
o NIW /1L
o (¥
074 b
L] ; =
£ B 2 (3 % 3
z o] o] i oy -
[ I pe] " oba 1 C
EE & R e
L2 <« . C “
2xn 3 7 a
_ - :1) o
£ ¢ az
T 2 - ©
e =, 7 2
W?__ g % O
£x33%% . =
8295 o]
& w.m o £ ¢ b
= % .
wgfSgy o
p=a [ o L7231
2%2555% o
— o m
[
i
["dAL) “aw3 o
NW ¥/ 11 i
® .,
uy

EXTERIOR

EXTERIOR

7“2\ VERTICAL CROSS SECTION

. ey

/4
7“1\ VERTICAL CROSS SECTION
\7/

INTERIOR

0 (dAl)gw3 |

NIW b/ -1

£ DM LETET- I ETET-TA\SDUIMBIQ DEMY 'Q\Z8FT 4d\00ST-TOHT loid\siapjod paload\SHa04d - vi:d



R:\A - Projects\Project Folders\proj 1401-1500\PF 1482\D. RWBC Drawings\FL-13137\FL-13137.dwg, 8.3

| g N R—— 4
€ 4a" ] (TYp) § 6 (8)
| | e U | | N
.4 'h’..‘.‘:-"-l‘.. ;". . . .",.'“"-:l:_.-‘;‘ '.:,_ ;J‘.
"5 F ITITT 1 ] L- i 5
5 I ? o =~
el :E <E [ =] SEE DETALL | _{
If in - 2X TYP, HEAD ~ ./
2X o 8
Buck — || TYP.HEAD I i1t BUCK AND JAMBS (14)
AND JAMBS I N 5 B[ - T 2X Buck
MULLION I 3
L SHOWN I 4 =5 FRAME 1
FOR I 22
REF. I ~=0 X #
MASONRY |+ Il 1 . MASONRY - 25
OPENING I T OPENING 0O ;
| 3 SEE DETAIL 2 33 i 14
-—'-.- H T t! " 2 = ®/
el i It . =l A 1 Gy
in 1l i ( )
T — e HINGE DETAIL
R f T f 1X Buck
HINGE JAMB FRAME ANCHORING
Masenry construction
2X buck
o 1X BUCK
OUTSWING
@ 0 2X BUCK e f— 3
. 0 INSWING ﬁ -7

<= 2_[17'1)

o

DETAIL 1

DETAIL 2
CONCRETE ANCHOR NOTES:

1. Substitution of equal concrete anchors from a different supplier may have different edge
distance and center disfance requirements.

2. Concrete anchor locations at the comers may be adjusted to maintain the min. edge
distance to mortar joints. If concrete anchor locations noted as "MAX. ON CENTER" must be
adjusted to maintain the min. edge distance to mortar joints, additional concrete anchors
may be required fo ensure the "MAX. ON CENTER" dimensions are not exceeded.

3. Co

W /4" 1-1/4" 2.1/2" e
ELCO ]/4" 1-1 /4“ ‘III 4"
ITw 3/16" 1-1/4" 2-5/8" 2-1/4"

RNy

7.5 4—-[

SEE DETAIL 1
1X F TYP. HEAD
BUCK AND JAMBS
|- -
FRAME
= &
—+— Bs < =
SF MASONRY - 245
as in O
:-E:_ OPENING SEE DETAIL 2 s %
5 =
& 3 %
A
) T i _i
Moine 4 = \ N — f
HINGE JAMB FRAME ANCHORING
Masonry construction
1X buck

Certificate Of ,Authorj; n No. 9813
(0287
Lyndon F. Schmidt, P.E. No, 43408

B813.659.9197

P.C. Box 230 Valrico FL., 33595
Florida Board of Professicnal Engineers

BUILDING CONSULTANTS, INC.

Phcne No.:

Documents Prepared By:

O
=
. S
o €T
Q S
; I
. L‘J"'\
ERN ]
s E [y
L 0 o
3 |43
~
5 E’: b3 B
= P
’_
0 o O
£ &
>
i
O
=
; O
2 @
Q Q'
2
=
3
%
N
NE
Q<
sl
~|o
rd
DATE: 10,/06/09
sCAlE:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
FL—-13137.3

SHEET _8 ofF 12

©ZDU9 F.W. BUMLDING CONSUHLTANTS INC.



R:\A - Projects\Project Folders\proj 1401-1500\PF 1482\D. RWBC Drawings\FL-13137\FL-13137.dwg, 9.3

4“

4“ ~ 4" el 4“ = a:
B - L 8" —e |re—— 8" —i | ~ E
Tty {
CCIrTTTWT T 11 TTmri
e i I }
il i I
“r fl [}
o I I
Sl S i
il MULLION Ig ¢ ?.é
Il I SHOWN I dl 2z
I FOR REF. 1 235
z
I I =5
MASONRY K I Il -
OPENING M Il
[ i
T I I 1 .
I I N
gl I I 1t
4. - . Jll‘ Il
LT f
BUCK ANCHORING
o 1X BUCK
OUTSWING "
@ @ 2X BUCK o ,
@ INSWING
_, oy~ P @
_ L _oen] " L .-r A1 o eI
- - imm
- - ./
DETAIL 1 0 y /A
DETAIL 2 HINGE DETAIL
Buck
CONCRETE ANCHOR NOTES:

1. Substitution of equal concrete anchors from a different supplier may have different edge
distance and cenfer distance requirements.

2. Concrete anchor locations at the corners may be adjusted to mainfain the min. edge
distance to mortar joints. If concrete anchor locations noted as "MAX. ON CENTER" must be
adjusted to maintain the min. edge distance to mortar joinis, additional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimensions are not exceeded.

3. Concrete anchor table:

ITw 1/4“ 1_]/4“ 2“112" 3"
ELCO 18 1-1/8" " &
ITW 3/16" 1-1/4" 2-5/8" 2-1/4"

vy

HINGE JAMB

[
=

1

HINGE JAMB

3'| — 3"

sl o]

Pl

o d 1]

SEE DETAIL 1
ox TYP. HEAD
BUCK AND JAMBS
=8
FRAME 25
PO
xZ
X0
MASONRY — -
OPENINGl SEE DETAIL 2
B _ 1
on| I IR P
FRAME ANCHORING
Masonry consfruction
2X buck
¢
3" 3" i
f— 4
A=
TT 1 '
o
1X - 0T
BUCK
FRAME %
- - 25
» 0
%3
MASONRY - -1
OPENING SEE DETAIL 2
o
i 1 1 IR T
" - .-’ e
FRAME ANCHORING
Masonry consfruction
1X buck

a9
B 8wy,
gn £z L
= ~ 20
c? N
cpe g
E.as2 &
zo-oz\
00
HEWNn of
=R K
AP ed
™ e N
. 5R% 0%
& oA g
x 2wl
'0%020
E_EU'Q\.-
235580
EDO.EOQ
& n.n.m-.é
. BE
£ TP
o 0 g
P
=
O
o
o

Lyndon F. Schmidt, P.E. No. 43409

&
=
S
e
S S
O
Q Z
& . WS
: |3 23
> Eu.&
L 1=
a |92
. <€
5|8 14 RV
gl | S
[
] &l @
5 &

LFS
BY

10/25/12 JUPDATE TO 2010 FBC

1

NOJ DATE

REVISIONS

bATE: 10,/06,/09

ScalE:  N.T.S,

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
FL—13137.3

SHEET _9 oF 12

© 2009 R.W. BUILDING CONSULTANTS INC.



TIN] SANYLINSNOL aNIid™MIiNg

‘Md 600 3

EObCH "ON “F'd "IPILYDS ‘4 UOpUAq SNOISIAIY
PP NUYW. SWVLIA %007 Yo V0 TONI @] | || ™|y
c196 off somozioutay 30 S10oBMBS S41 983 010z oL 3ivadn|zi/se/ol 1 |SUY|X|2| | T
s1asulBUT |DUOISSR0Ld JO PIDOg DPLIOLY SATHWASSY H0 Ldvd % M N
LBLE'6G9'CLE "ON oudYd W . g ..01_
SESEE ~1d OSMIPA OTT Xed O'd \h\wg - E|&E|g !
"ONI ‘SINVIINSNOD ONIaNNG 4000 AITIVA 3N90Y o m slelEd |G
1Ag peJodesy sjueWINDCQ :10NAa0cdd HEIHE W %
e
= P 4 - 0 v Q....Im.’ut. ) - ) o 4 - =7
—
=
\ \ \ \ \ 5
© S
—
A
O
— ys . =
= -5- /T =24 -~/ m

X

y
5 POINT LOCK DETAIL
W & F Trilennium

€01 ‘Bmp e TET- 1V ETET- 1 sBumelq Damy "a\Z8rT 4d\00ST-104T [oud\siapiod palord\sioafold - vy



"IN SENVYLIASNOD ZNIGTIiNg "My 600 @

. a—a [ . ‘A 3
| \u\._mw.“\oz 3'd "IPIUYSS ‘4 uopukn SININOANOD = SNOISIAIY 05 o o e
c186 ‘ON ozo%m\o%N,o S S41 084 010z OL awvadnjzi/sz/ol + R vi|x 2] I
siseuiBbuy |puoissesond jo pioog bpuold ATHNASSY d0 Livd % = ~ . 218
LELE'65G'CLE ION SUOUd < e R
GBSCE “Id OSUIDA OFZ X08 ‘O'd \Su@u 2 BlElg !
“ONI ‘SINVLINSNOD SNIGTINg ¥004 AITIWA 3N90Y @ m slelE Tt
:4g pedodesq sjuewnooy £L0Naoyd 3 g3 m F
w Il ._W.N bl
_ &L -
=l — -
SN 3 AR
R ——— W\ W B S\ .\
5 vl
Z &0 ||6|_ 3 S
o - 3 70
h 3 [ 2
: © 5
= ¥ =
35 S
als
=< STé
J =
=
=
o8
SE
@O
i m.m.* l||_
+ y - .
! N 3 & ST
H L6 _
\
by 3
in oc
: e
b B
a|s

= =
R 3|5 E y
- ol 5 m..lu
&=|a % mw S B
\ S =E =y 2|
i &[0 3 Q|5
w|a
|
] —
e — )
lll._m.-.N.—lll'! mh.—

“1 f" ~— {90
7

//

- _.mh. m. — - ._mN.w —

4.5
4.5

4

|

|

|
D
45

NOTE:

2. Door panel wood $G. >= (.42
I
||J|\||H!|‘| |
| H ||it|§|| l' IJi
i ik
| |1 II.F!\|I ll Ii.

HINGE AN
@E\cffelanﬁl
@Panellnﬁl
@Giozed

1. Pins are 5/8" x §" centered half in the rai, half in the stile
AN
i
il
I”I ‘J;ll”l”i
TCH STILE
HINGF AND LATCH STLE
HINGE AND LATCH STILE
]
MID STILE

€11 'DMP'LETET-TNLETET-TH\SDUIMRIQ DEAY "GA\E8ET 44\00ST-T0+T L0ad\s19piod Paloid\spoalosd - ity



Project Folders\proj 1401-1500\PF 1482\D. RWRBC Drawings\FL-13137\FE-13137.dwg, 12.3

1/2" GLASS BITE ~°I

T

———

@ INSWING THESHOLD

’—— 2.28' —=|

0.06"

L

(: :) DOOR SWEEP

I

I

e 20

1/2" THICK GLASS

BILL OF MATERIALS
ITEM # | DESCRIPTION MATERIAL

A | 1XBUCKSG >=0.55 WOOD
B_ | 2XBUCKSG >= 0.55 WOOD
C | 1/4 MAX_SHIM SPACE B

D | 1/4 X 2-3/4 ELCO OR TW CONCRETE SCREW STEEL
£ | MASONRY -3,T92 PSTMIN, CONCRETE CONFORMING TO ACT CONCRETE

301 OR HOLLOW BLOCK CONFORMING TO ASTM €90

F_ | 1/4"X 3-3/4' ELCO OR ITW CONCRETE SCREW STEEL
G |3/18 X 2-3/4' TW CONCRETE SCREW STEEL
H | 3/16'X 2-1/4' TW CONCRETE SCREW STEEL

|| 1/4"X 2-1/4" ELCO OR TW CONCRETE SCREW STEEL
K |3/16 X 3174 TW CONCRETE SCREW STEEL
1| DOOR HEADER AND JAMB 1-1/4" X 49/16" [SG => 0.42 PSF] WOOD
4| SIDELITE HEADER AND JAMB 1-1/4" X 4-9/16" [SG => 0.42 PSF) WOOD
7| WEATHERSTRIP FOAM
8 | #10X 2-3/4" PFH WS STEEL
9 | #9X 2" PFH WS STEEL
12 HINGE STEEL
T4 | 1/4" X 3/4 PFHWS STEEL
15 | DOOR SWEEP ALUM
16 | #6X1/2'PPHWS STEEL
17| PANEL INFIL WOOD/COMP
18 |5/8"DIA. X5 PIN WOOD
19 |.375" GLAZING SPACER ALUM
20 | SEALANT SILICONE
21 | 3/8° X 1/2° PANEL STOP WOOD
22 | 1"BRAD STEEL
23| MULTI-POINT STRIKE PLATE STEEL
26 | ASTRAGAL WOOD
28 | 1/4' X 1" 16GA. STAPLE STEEL
33 | THRESHOLD (INSWING) .
34 | THRESHOLD [OUTSWING] -
35 INSWING SIDELITE ADAPTER -
37 | SIDELITE STILE WOOD
39 | SIDELITE PANEL [FULL LITE]
40 | SIDELITE PANEL (3/4 LITE] :
41| DOOR PANEL (FULL LITE) -
50 | DOOR PANEL {OPAQUE) -
51 | TOP RAIL WOOD
52 [LOCK RALL WOOD
53| BOTIOM RAIL WOOD
54 | HINGE AND LATCH STILE WOOD
55 | MID STILE WOOD
56 | GLASS STOP WOOD
57 | BACKING PLATE STEEL
5§ | MID RAIL WOOD
59 | #8 X 3/4 PFH MACHINE SCREW STEEL

%)

C:) GLAZING DETAIL

/NN

61 #10 X 2-1/2" PFH WOOD SCREW STEEL
43 FLUSH BOLT LOCK ASSEMBLY STEEL
64 | LOCK ASSEMBLY 5 POINT LOCK {DOUBLE DOOR] W&F Trilennium STEEL
65 #10 X 1-1/2" PFH WOOD SCREW STEEL
66 #8 X 1-1/4" PFH MACHINE SCREW STEEL
67 | FLUSH BOLT STRIKE PLATE DOUBLE DOOR STEEL
70 | #14 X 3-1/2" FLAT SQUARE DRIVE WOOD SCREW STEEL
— 6.25"
4 \
o o L
JoJ
O
\O J +
.M
Flush bolt
583 * — 6.56"

813.659.9197

o
o
£
b+
=)
L
Q

BUILDING CONSULTANTS, INC.
PO, Box 230 Valrico FL. 53595

Documents Prepored By

Phone No.:
Floride Board of,Professional Engineers

Certificate

Lyndon F. Schmidt, P.E. No. 43409

w—%

1/8" TEMPERED GLASS
AIR SPACE

1/8" TEMPERED GLASS

=

“ o DOOR JAMB

34 OUTSWING THESHOLD

ROGUE VALLEY DOOR
BiLL OF MATERIALS,

PART OR ASSEMBLY:

PRODUCT:

LFS

BY | COMPONENTS AND GLAZING DETAIL

10/25/12 [UPDATE TO 2010 FBC

1

NOJ DATE

REVISIONS

DATE: 10/06/09

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
FL—13137.3

SHEET 12 oF 12

© 2009 R.W. BUILDING CONSULTANTS ING.



